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xA=0’2 xB=0'8

1) p=p.x,+ psxy
=(9.96x0.2+2.97 x0.8)kPa = 4.37kPa
Ps = PgXg = DYy
Vs = PrXy !/ p=2.97x0.8/4.37 = 0.544
y, =0.456

(2) py, = pyx,

= pi(1—x, )||-

Ve —08

g = 0931, x, =0.069
= 3.455kPa




3) P=(2.97%x0.9+9.96 x0.1)kPa = 3.669kPa

y,=p.x,. /| p=297%x0.9/3.669 =0.728

/

no _ X Ve =(5X0.8—0.728

n’ x,—y, 0.9—0.728
n® =(5-2.09)mol = 2.91mol
@ p=[2.97x, +9.96(1 - x, )]kPa = 9.00kPa

~9.00-9.96

~2.97-9.96
x, = 0.863

jmol = 2.09mol

= 0.137

Xp




S)
P = PeXg = pa(l—xp)=p,

2.97
- 2.97+9.96

= 0.230
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